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Write short answers to any SIX paris. 'gﬁw A i i &
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Find HCF.:  sbay . albe sby . a'be o i ()
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Find the square root- 1657 + 2dy + y? 16x7 4 2axy + 9y’ Pl (vi)
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Remove the radical sign from the denominater: 757 73 T # mesbfas B F V)

Look st the figure and answer: sz F S i)
{a) The pair of vertical angles e sl e di (a)
(b) The pair of complementary angles e SR Ui el (b)
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Find the third side of right triangle with legs a and b and hypotenusec: ~ b=3 , ¢~ 61 , a=7

Find the volume of cube of a side dcm. e AT e (il
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Write short answers to any SIX parts. jm ﬁ*@‘#&&f -A

Solve by using factorization method: al-bx+§=0 x}—bx+5=0 K#HLJ" dﬁ-&'ﬂﬂ (i)
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